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Directed Acyclic Graph
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trains in Sweden

Helsingborg Astorp Halmstad —— Varberg
Malmo Lund —— Hassleholm —— Alvesta

Kristianstad —— -
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represent the graph

public class City { public class Connection {
String name; City city;

Connection[] neigbours; Integer distance;
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the graph

Stockholm
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Improvement

If you have found a path with a distance d,
then any other path should be shorter than the found.
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assignment

» build the graph from specificaton

® naive search given max distance

» preventing loops using path

® improve search by remember found distance
» realizing that something needs to be done
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